

Ch. 1.2-1.3 Evaluating Limits Algebraically Practice Worksheet

1)

$$\lim_{x \rightarrow 4} \frac{\sqrt{x} - 2}{x - 4}$$

2)

$$\lim_{x \rightarrow 2} \frac{x^2 - 6x + 8}{x - 2}$$

3)

$$\lim_{x \rightarrow 0} \frac{\frac{1}{-2+x} + \frac{1}{2}}{x}$$

4)

$$\lim_{x \rightarrow 3} \frac{3x^2 - 8x - 3}{x - 3}$$

5)

$$\lim_{x \rightarrow 2} \frac{\frac{2}{x^2} - \frac{1}{2}}{x - 2}$$

6)

$$\lim_{x \rightarrow 3} \frac{\sqrt{x-2} - 1}{x - 3}$$

7)

$$\lim_{x \rightarrow 6} \frac{3x^2 - 17x - 6}{36 - x^2}$$

8)

$$\lim_{x \rightarrow 0} \frac{\frac{1}{1+x} - 1}{x}$$

9)

$$\lim_{x \rightarrow 1} \frac{\sqrt{x+8} - 3}{x-1}$$

10)

$$\lim_{x \rightarrow 1} \frac{2x^2 - x - 3}{x-1}$$

11)

$$\lim_{x \rightarrow 3} \frac{4x^2 - 7x - 2}{x-2}$$

12)

$$\lim_{x \rightarrow 1} \frac{3x^2 - 4x + 1}{2x^2 - x - 3}$$

1)

$$\lim_{x \rightarrow 4} \frac{\sqrt{x-2}}{x-4} \cdot \frac{\sqrt{x+2}}{\sqrt{x+2}}$$

$$\lim_{x \rightarrow 4} \frac{(x-4)}{(x-4)(\sqrt{x+2})}$$

$$\lim_{x \rightarrow 4} \frac{1}{\sqrt{x+2}} = \frac{1}{\sqrt{4+2}} = \frac{1}{2+2} = \boxed{\frac{1}{4}}$$

2)

$$\lim_{x \rightarrow 2} \frac{x^2 - 6x + 8}{x - 2} \quad \frac{4-12+8}{2-2} = \frac{0}{0}$$

$$\lim_{x \rightarrow 2} \frac{(x-4)(x-2)}{(x-2)}$$

$$\frac{-4 \quad 8 \quad -2}{1 \quad -2 \quad 1}$$

$$2-4 = \boxed{-2}$$

3)

$$\lim_{x \rightarrow 0} \frac{\left(\frac{1}{-2+x} + \frac{1}{2}\right)}{x} \cdot 2(x-2)$$

$$\lim_{x \rightarrow 0} \frac{2+x-2}{x \cdot 2(x-2)}$$

$$\lim_{x \rightarrow 0} \frac{x}{x \cdot 2(x-2)} = \lim_{x \rightarrow 0} \frac{1}{2(x-2)} = \frac{1}{2(-2)} = \boxed{-\frac{1}{4}}$$

4)

$$\lim_{x \rightarrow 3} \frac{3x^2 - 8x - 3}{x - 3} \quad \frac{0}{0}$$

$$\begin{array}{r} \text{a.c} \\ -9 \quad -9 \quad 1 \\ 3 \quad -8 \quad 3 \end{array}$$

$$\lim_{x \rightarrow 3} \frac{(x-3)(3x+1)}{(x-3)} = \boxed{10}$$

5)

$$\lim_{x \rightarrow 2} \frac{2-x}{(x-2) \cdot 2x^2}$$

$$\lim_{x \rightarrow 2} \frac{4-x^2}{(x-2) \cdot 2x^2}$$

$$\lim_{x \rightarrow 2} \frac{(2-x)(2+x)}{(x-2) \cdot 2x^2}$$

$$\lim_{x \rightarrow 2} \frac{-1(2+x)}{2x^2}$$

$$= \frac{-1(2+2)}{2(2)^2}$$

$$= \frac{-4}{8} = \boxed{-\frac{1}{2}}$$

6)

$$\lim_{x \rightarrow 3} \frac{(\sqrt{x-2}-1)(\sqrt{x-2}+1)}{x-3} \cdot (\sqrt{x-2}+1)$$

$$\lim_{x \rightarrow 3} \frac{x-2-1}{(x-3)(\sqrt{x-2}+1)}$$

$$\lim_{x \rightarrow 3} \frac{(x-3)}{(x-3)(\sqrt{x-2}+1)} = \frac{1}{\sqrt{1}+1} = \boxed{\frac{1}{2}}$$

7)

$$\lim_{x \rightarrow 6} \frac{3x^2 - 17x - 6}{36 - x^2}$$

$$\begin{array}{r} -18 \\ 3 \end{array} \begin{array}{r} +1 \\ 3 \end{array}$$

$$\lim_{x \rightarrow 6} \frac{(x-6)(3x+1)}{(6-x)(6+x)}$$

$$\lim_{x \rightarrow 6} \frac{-1(3x+1)}{6+x} = \frac{-1(19)}{12} = \boxed{\frac{-19}{12}}$$

8)

$$\lim_{x \rightarrow 0} \frac{\left(\frac{1}{1+x} - 1\right)}{x} (1+x)$$

$$\lim_{x \rightarrow 0} \frac{1 - (1+x)}{x(1+x)}$$

$$\lim_{x \rightarrow 0} \frac{1 - 1 - x}{x(1+x)}$$

$$\lim_{x \rightarrow 0} \frac{-x^{-1}}{x(1+x)}$$

$$\lim_{x \rightarrow 0} \frac{-1}{1+x} = \frac{-1}{1}$$

$$= \boxed{-1}$$

9)

$$\lim_{x \rightarrow 1} \frac{(\sqrt{x+8}-3)(\sqrt{x+8}+3)}{(x-1)(\sqrt{x+8}+3)}$$

$$\lim_{x \rightarrow 1} \frac{x+8-9}{(x-1)(\sqrt{x+8}+3)}$$

$$\lim_{x \rightarrow 1} \frac{(x-1)1}{(x-1)(\sqrt{x+8}+3)} = \frac{1}{\sqrt{9}+3} = \boxed{\frac{1}{6}}$$

10)

$$\lim_{x \rightarrow 1} \frac{2x^2 - x - 3}{x - 1} = \frac{2 - 1 - 3}{1 - 1} = \frac{-2}{0}$$

limit DNE

11)

$$\lim_{x \rightarrow 3} \frac{4x^2 - 7x - 2}{x - 2}$$

$$\frac{4(3)^2 - 7(3) - 2}{3 - 2} = \frac{36 - 21 - 2}{1}$$

$$= \boxed{13}$$

12)

$$\lim_{x \rightarrow 1} \frac{3x^2 - 4x + 1}{2x^2 - x - 3}$$

$$\frac{3(1)^2 - 4(1) + 1}{2(1)^2 - 1 - 3} = \frac{-1 + 1}{1 - 3} = \frac{0}{-2}$$

$$= \boxed{0}$$